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Summary:
Number 38 has the lowest correct score at 20.58% of students getting it correct.  This question uses large (in the hundreds of thousands) numbers to find a percentage and it is consistently the most often missed problem.  It is normal for students at this level to be uncomfortable with numbers these large, but as instructors we can help by incorporating large numbers more often.  The second lowest correct score is number 3 at 38.99% correct.  This question asks students to multiply two mixed numbers, without a calculator.   


























Fall 2016
MAT081 –  4 credit class
432 students
18 sections

[image: C:\Users\Sarah\Desktop\081 test item stat report.JPG]

[image: C:\Users\Sarah\Desktop\081 question summary stats.JPG]
[image: C:\Users\Sarah\Desktop\081 comparative grade report.JPG]

Summary:
There was a slight increase in the overall percent from Spring 2016 (68.92%) to Fall 2016 (71.42%).  Number 38 was again the lowest scoring problem.  However, the second lowest score in Spring 2016 was #3 at 38.99% and in Fall 2106 it was 53.43%.  
image6.jpeg
Students_Grade _Percent

- T4 I
-0 XD ]
- 7063

- EXg

= c 7as9) ]
(- 7214 ]
- 7359

- Xl

= c o518 ]
[ ] ]
- T5arlh

- 750

2 c 7508 ]
- 7591 ]
o 3 Tor 1
I S ]
18 ) 6062/

() 30

I 730 1





image1.png
Test Item Statistics Report

Guestion Summary Statistcs Retabirty
o Fonf]  Percent

(Question Points| Graded  Comeot tncomest N = =

a7 o | # % s o 0% 5350 I

a2 w0 | 2 27 2 2 020 s017 I

oz w0 | 2 105 17 2 0m2 oo m—

as w0 | 2 25 3t 1 02 545 I—

as w0 | 2 133 134 0 0 4501 E—

as w0 | 2 160 107 1 00 o101 EE—

a7 w0 | 2 185 121 1 040 5500 EE—

as w0 | 2 130 130 2 0 s01s EE—

s w0 | 2 187 a0 o 043 7112 E——

lato w0 | 2 182 ot 4 043 50—

lant w0 | 2 22 E o 027 007 —

lar2 w0 | 2 2 o o 035 7017 E—

ara w0 | 2 20 3 ° 03¢ 500 EE——

lats w0 | 2 210 o 1 om0 770 E—

a1s w0 | 2 207 E ° 007 5017 I

are w0 | 2 2¢ 5 o 037 s —

larr w0 | 2 207 o 1 03 47—

ate w0 | 2 213 o 1 03¢ 7000 EE——

lare w0 | 2 £ o s 0s3 7545 E—

a0 w0 | 2 20 2 10 043 020 EE—

a1 w0 | 2 T3¢ 192 1 040 53—

a2 w0 | 2 127 145 2 04 sss EE—

oz w0 | 2 200 5 is 02 7437 E—

a2s w0 | 2 200 = 4 022 7220 E—

azs w0 | 2 165 108 s 02 057 EE—

a2 w0 | 2 23 2 2 02 013 EE——

a2 w0 | 2 03 n 2 0x 7320 E—

oz w0 | 2 20 ® 1 03 530; EE——

oz w0 | 2 180 @ s 02 ccos EE—

laz0 w0 | 2 20 2 1 020 200 EE—

ozt w0 | 2 178 100 1 030 635 EE—

az2 0| 2 178 100 1 057 ey




image2.png
Question Summary Statistics Reliabily
o o] Percent

(question Points| Graded  Comeot tncomest o = =

5 o0 |z T8 = 2 0% tes M

azs o0 | 2 118 187 2 051 260 m—

azs w0 | 2w 20 37 o 03 sso: EE—

aze o0 | 2 163 s ° 0% coes EE—

lasr w0 | 2w 20 3 s 010 sso: EE—

aze o0 | 2 57 213 k4 005 205 m—

laze w0 | 2w 182 o 1 047 o570 E—

a0 o0 | 2 137 138 2 027 00—

st w0 | 2w 1e0 110 1 02 soo: EE—

s o0 | 2 28 i 2 013 31¢ I—

s w0 | 2w 123 140 5 04 e E—

ass o0 | 2 125 ™ e 047 7145 E—

lass 0| om 173 o " 083 2 E—





image3.png
Students Grade _Peroent

rm o[ wol ]
P XD
- 723
I 7671
o 517y |
PR 2]
() GZE
s 7034
5o 7037
[ 7
- 5]
o X
IR B9





image4.jpeg
Test Item Statistics Report

Guestion Summary Statistcs Retabitty
o Foni]  Percent

(question Points| Graded  Comeot tncomest N Bz =

a7 o ] ED = o 025 23 I

a2 w0 | 4z =7 B o 0ss o140 I

oz 10| 4z 20 100 1 047 5343 EE—

as 10| 4z 3 ™ o 022 5345 I—

as 0| 4z E3 29 3 0z o570 EE—

aa w0 | 4z 20 163 1 0s2 612 EE—

a7 10| 4z 208 126 ° 035 7060 EE—

as o0 | 4z 25 178 1 om0 sse: EE—

as 10| 4z 204 7 2 040 o71¢ EE—

lato w0 | 4z 20 72 2 o4 s2o7 EE—

lan o0 | 4z B 2 1 031 0:00 IE—

lar2 w0 | 4z = 101 o oz 7012 EE—

ara w0 | 4z e a7 o 031 2o EE—

ars w0 | 4z En & 1 038 7500 IE—

a1s oy = © o 01 05—

are o0 | 4z =2 7 o o3 52 EE——

larr w0 | 4z 28 o o s 7707 E—

lare w0 | 4z 0 5 o 0z 72 E—

lare 10| 4z = o o 02 sc0: EE—

a0 10| 4z 0 3 o 020 o100 IE—

a2t 0| 4z o8 27 1 0 s0 E—

laz2 w0 | 4z 03 20 o 041 4700 EE—

oz 10| 4z a7 £ o 035 o1 I—

a2s o0 | 4z 2 @ s 03¢ T ——

azs 10| 4z 201 181 1 0 soo7 E—

aze w0 | 4z 00 2 1 o037 22 E——

oz o0 | 4z 00 122 1 03 00—

a2 w0 | 4z 38 5 1 o3 700 IE—

oz w0 | 4z s rio 1 03 oes: EE—

laz0 w0 | 4z 7 5 1 03 oo IE—

ozt oy s 7 1 044 501 EE—

aze P 22 180 1 04 sess EE—

2202017 st tem Ststistis Repot Page 1





image5.jpeg
Question Summary Statistics Reliability
Points| Graded  Correct Incorrect N Point]— Percent
Response Biserial Correct
Q33 100 423 198 224 1 0.46 4651
Q34 100 | 423 187 234 2 045 4421 J
Q35 1.00 423 357 64 2 051 | 84.40
Q36 100 423 266 155 2 033 6253 I |
Q37 100 423 312 49 2 0.49 87.94
a3s 100 | 423 85 335 3 007 2009 W J
Q39 1.00 423 267 185 1 047 | 63.12 I
Q40 100 423 210 210 3 037 4965 N |
Q41 100 423 218 144 1 0.38 6572
Q42 100 423 388 33 2 0.20 9173 I
Q43 1.00 423 224 195 4 041 | 5296 (I
Q44 100 423 345 72 6 0.44 8156 I |
Q45 1.00 423 257 162 14 0.48 6076 G





